JTSSE SAMPLE QUESTION PAPER & ANSWERS, CLASS-IX

GROUP - A
SCHOLASTIC APTITUDE TEST : (x5 eiqefe! srers
Total Marks : 50 3[3 w949 8 o
Each question carries one mark : TSB! 2T A > 91

fa=@« (Science)

1. GreoR @efed (K) O (Zefedig (°C) (FoTa =905 2a—
The relation between the Kelvin (K) and Celsius (°C) Scales of

temperature—
a. K=C+273 b.C=K +273
c.C=K + 273 d.C=K x273

2. TouRre 45l 3G sl (FEmE 7S SR AR 2
How can we obtain coloured component from ink?
a. SIS 7w (Fractional distillation)
b. fCs14 (Chromatography)
¢. SI(H@S (Centrifugal method)

d. "FHFae (Crystallization)
3. YO RGN
Face cream is
a. 9’z (Aerosol) b. 3@ (Emulsion)

c. (&re1 (Gel)d. = (foam)

4. 64 g SIS 2 SAHCG 2[FEF 3's ALLN—
The number of mole of Oxygen atom in 64 g of Oxygen—
a.2 b. 4 c.8 d. 1

5. K,Cr,03 Asfaesl g'a—
The atomicity of K,Cr,0O, is —
a. 12 b. 11 c.9 d. 10

6. (FUTIWS I IO L eT—
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: The particle present in Cathode ray is —



7. OOE (PO (TR AS T AL & B o T8 G ATF—

8.  (URANEET—

9. OFH (FINRY IS (GFIBT (AT T 2

a. 3013  (Electron) b. &'G9 (Proton)
c. 8% (Neutron) d. Refa1Z (Nucleus)

Which one of the following element have same number of proton
and neutron —

a.<25 s (Nitrogen)  b. @RS (Beryllium)
c. F-12 (Carbon-12)  d. 23 & (Hydrogen)

Cambium are—

a. 9y olers el (Apical meristem)

b. #IF ©Ie<s el (Lateral meristem)

c. Faf*re Sie 11 (Intercalary meristem)
d. @bre 727 (None of these)

Trachide present in the tissue —

a. T3eT™ (Xylem)

b. GFItN (Phloem)

c. NI el (Nervous Tissue)

d. (?[(Re[FI2 (Parenchyma)
10.  <@T AT o ol 52

What is the excretory organ of Annelida?
a. (TIPS (Nephridia)

b. (85’2 (Stotocyst)

c. SNFSB1EG (Archacocyles)

d. @be w27 (None of these)

11. 95! QR 21 SRZE 7[ 9if0 FROZ OF 2 (RFeS 2ms 2 GRS
2% | TS I (F91—
An object is moving from rest and has an acceleration of 2ms 2 in
2 second. What is its final velocity?
a. 2ms! b. Ims™' c. 4ms™! d. 8ms™!



13.

14.

15.

16.

17.

©F (22— F (&Y |
Mass is a measure of .

a. (39 (Velocity) b. &ro9l (Inertia)

c. o999 (Momentum)  d. |99 (Acceleration)
TR 9T —

Unit of work done —

a. &% (Gram) b. f9E5 (Newton)

c. g<1 (Joule) d. 25 (Watt)

M m &I T GBIF (F91 v B, (O(=R (e 39 919 =i 29—
If mass of an object is 'm' and its velocity 'v', then its kinetic Energy
will be —

a. m’v b. Vamv? c. Yamv d. mv?
F oY fobifam e tare—

The Cobalt containing vitamin is —

a. B, b. B, c. B, d. B,

MET A IR (T 2 T51F fowqw 40 F.50./2519 #i<1 80 f.51./95 e

ARRS FRCE | NG G0 T T'T—
A vehicle changes its velocity from 40 km/hr to 80 km/hr within 2
hours. The acceleration of the car is —

a. 40 f&.530./2512 (40 km/hr?)
b. 20 &5.51./2512 (20 km/hr?)
c. 120 /5.50./2512 (120 km/hr?)
d. 60 &.550./2512 (60 km/hr?)

«bl TS O = m

B9 AT e = W,

I bH© €G] = W

TGO (FT© b i 5T GG T oi1e T I—

Mass of an object =m
Weight on earth = W
and Weight on moon =W



The ratio of the weight of the object on moon and earth is:
a W, W, =6:1 bW, W, =1:6
c.W,: W =2:3 dW, : W =3:2

18.  TolIfR Coffai aram—

Cartilage is not found in —
a. I (Nose) b. =19 (Ear)

c. 32 (Kidney) d. =g (Larynx)

19. 3 I GO SIS o FE—
Ratio of force and acceleration measures—

a. (391 (Velocity) b. 7<g (Distance)
c. ©9 (Mass) d. ©qt39 (Momentum)

20.  ,,Ca® e | Ar® (3Tl YOI (7 O (FITCH! 7o) 2
Which one of the following is correct in case of | Ca*’and | Ar*.

a. W] 7RI (Both are isotopes)
b. CIG! FTSIST (Both are isobars)
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| c. 96! #1255 (Both are isotones)
| d. @be 727 (None of these)
: 21, coffilers 2 aftg—
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Penicillium is a/an —

a. Y19l (Monera) b. TR (Porifera)
c. (472 (Algae) d. (¥3< (Fungi)

22, O&9 (FICH! G5 CTe R 2

Which of the following is not an element?

a. (212D (Graphite) b. TGN (Germanium)

c. [&ferl (Silica) d. 26 (Silicon)
23, TSR R &5 (G) I T [T st eldw smiefie o[t
q’a_

The first physicist who determined the value of universal constant
is —

a. QS SIZens 85 (Sir Issac Newton)



b. &R @Frefer (Henry Cavendish)
¢. ATIF T (Rutherford)
d. «be 727 (None of these)
24, F(FCH (PO THPTITOR 3]G SPA FIT I 2

The rockets work on the principle of conservation of
a. o3q (Mass) b. *I’&< (Energy)
¢. ©J(F99 (Momentum) d. (399 (Velocity)

25, Cl SITHR (OIS B0e1g o9 AN 2 —

The number of valence electrons in Cl~ ion is —
a. 16 b. 18 c. 17 d. 18

sife (Mathematics)
26. O (OISR 2

Which of the following is irrational?
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I 2. 4/g b. % c. 7 d. /81
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27. T SReESd FReE 3\/—3_—2\/53781?1?’3—

7
After rationalising the denominator of 33202 we get the
denominator as
a. 13 b. 19 c.5 d.35

28, 2x7 + Tx — 4% GBI ¥+ TF—
One of the zeroes of the polynomial 2x? + 7x — 4

1 1
a. 2 b.E C.—E d -2
29. AMa+b+c=0,(ANTa+ b+ IANTTI—
Ifa+b+c=0,then a®+ b* + ¢ is equal to—
a. 0 b. abc c. 3abc d. 2abc



30, x-S A IRCEN T 9% 2 —
Abscissa of all points on the x-axis is
a. 0 b. 1

c.2 d. RIGHIG 540 (any number)

31, (=5,2)%0% (2, - 5) % 4o SREH—
The points (— 5, 2) and (2, - 5) lie in the —
a. (P (bIS9 (same quadrant)
b. @ [ 9016 111 (5%<e@ (11 and III quadrant respectively)
c. @ I 90=: [V 319 (II and IV quadrant respectively)
d. @ IV 9= 11 (619 (IV and II quadrant respectively)

32.  (RE AN y = x T GTAGBIE OoR (FINC6! KM NS [ 2
The graph of the linear equation y = x passes through the point —

3.3 0.2 L
a. 29 7 b. > 7 C. (1, 1) d. 29 7
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| 33. O (@I AN x = 5, y = 2 <Gl LT T2
I x=35,y=21s asolution of the linear equation —
I
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a.x+t2y=7b.5x+2y=7

c.x+ty=17 d.5Sx+y=7
34, BT (AT AN—

Euclid belong to the country—

a. (A]1e= 19l (Babylonia) b.Zfere (Egypt)
c. &% (Greece) d. (815 (Rome)
35. @bl U™ @EEn! 5 : 3 : 7 Sigeiiee R fagerts 29—
The angles of a triangle are in the ratio 5 : 3 : 7, The triangle is—
a. ’f[‘fﬂmﬁ 4% (an acute angled triangle)
b. W‘iﬁ 4% (an obtuse angled triangle)
c. T fage (a right angled triangle)
d. Tfza2 f§e (an isosceles triangle)
36.  ©er HE® x INHTT—
In the following figure, the value of x is —



4x
: 40° 3x R
P Q
a. 20° b. 25° c. 30° d. 35°
ABC fage®, BC =AB 9I% £ B =80° 2 £ AT W 23—
In A ABC, BC=AB and £B = 80°. Then £ A is equal to —
a. 80° b. 40° c. 50° d. 100°
7zl =itz @ A ABC = AFDE 9% AB = 5 (25, £ B = 40° ®I%
Z A =800, (STT O (FIHI 7 22
It is given that A ABC = AFDE and AB=5 cm, £ B =40°and
Z A =80°. Then which of the following is true?
a. DF = 5 (& (cm), £ F = 60°
b. DF = 5 (& (cm), £E = 60°
c. DE =5 (2% (cm), ZE = 60°
d. DE =5 (& (cm), £D = 40°
B! SR fOfG! (R (aid 75°, 90° B 75° | 59 (oo 23—
Three angles of a quadrilateral are 75°, 90° and 75°. The fourth
angle is —
a. 90° b. 95° c. 105° d. 120°
5! 59EE PQRS AR T RYAIR Gl wkeael 1 [ vogs

CoTRIT I, (B! <1 Oorsd 7S, 0T —
The quadrilateral formed by joining the mid-points of the sides of a
quadrilateral PQRS, taken in order, is a rectangle, if —

a. PQRS 90! 917, (PQRS is a rectangle)
b. PQRS «5! (<5, (PQRS is a parallelogram)

c. PQRS 3 ¥4 4TI #7™7 &9, (diagonals of PQRS are
perpendicular to each other)
d. PQRS 3 & ®ie 31, (diagonals of PQRS are equal)

&
<




171 e, ABCD Hig<a< ife] 39—

In the figure, the area of the parallelogram ABCD is

D N C

M

h

A B
L
a.ABxBM b.BCxBN c¢.DCxDL d. AD x DL

M B! fqge o B! AN G il O G0 qole AT |
([ ere SRFS 27, (9% [qeevR Fifel S ANBRFHR Fifea :
SEPOD] 2 I— |
If a triangle and a parallelogram are on the same base and between |
same parallels, then the ratio of the area of the triangle to the area |
of parallelogram is — |
a.1:3 b.1:2 c.3:1 d.1:4 [

wr foge, I £ ABC = 20°, (97% £ AOC T (&1 77 (FHH |
TN ?
In the figure, if £ ABC = 20°, then £ AOC is equal to

AB

C
a. 10° b. 20° c. 40° d. 60°
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F71 o, I £ DAB = 60°, £ ABD = 50° T, (9% £ ACB ¥ |
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I

(G TI—
In the figure, if £DAB = 60°, £ ABD = 50°, then £ ACB is

equal to —
A
@),
a. 50° b. 60° c. 70° d. 80°



QWWWQWWWWWWqWWI

DRk I
With the help of a ruler and a compass it is not possible to construct I
an angle of—

a. 37.5° b. 40° c.22.5° d. 67.5°

farge BRI (&1 @ 56 (2, 60 (=i = 52 (=N 20, agevR
Fifer A 29—

The sides of a triangle are 56 cm, 60 cm and 52 cm long. Then the
area of the triangle is—

a. 1322 &2 (cnn) b. 1311 & (cm?)
c. 1344 &2 (cnn) d. 1392 (=3 (cm?)
51 TS 5 SFFI 96 (B2 2 0E TF O SO 27—
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The total surface area of a cube is 96 cm?. the volume of the cube :
is — |
a. 8 (& (cm) b. 512 (&% (cm?) |
c. 64 (& (cm®) d. 27 @& (cm®) I
U5l §EIT APNET Wole 2 : 3 WF THOF I A1 :
5: 320, H61 YOI SIRens ST 27— |
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The radii of two cylinders are in the ratio of 2 : 3 and their heights
are in the ratio of 5 : 3. The ratio of their volumes is —

a.10:17 b.20:27

c.17:27 d.20:37

i o9l x, x + 3, x+ 5, x + 7, x + 10 IV 9 T, (90T (<7< [SfHG!
AL TR WG TT—

If the mean of the observations: x, x +3,x+5,x+7,x+101s 9,
the mean of the last three observations is —

1 2 1 2
a. 105 b.l()g C.llg d.llg
Q4 R0 (XET® QaIRIF] I EFtRbita 3061 o1 fowss 651 Ar8reS]
(PRI | (9€ ACLLT FFIRIE TeIfel Ta—
In a cricket match, a batswoman hits a boundary 6 times out of 30




balls she plays. The probability that she did not hit a boundary is — |

d. 0
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: GROUP - B :
| MENTAL ABILITY TEST : siofv= st sreis |
| |
| |

Total Marks : 50, 3{5 949 ¢ «o
Each question carries one mark e 2if$t! 24K 31C3 > 799

| Direction : In each of the questions 51-55, a series is given with one |
| term missing. Choose the correct alternative given below that will |
| complete the series. |
| TRt ¢ o 5155 1% 2iste «BiITas (i) i onie | e BeacaRd #1a1 e 9123 |
| i @bl siv el e =st qice T T =3 | I
l51. v,T,0,J, - I
' @x ®F ©D (@E !
I (¢) None of these G3(ART G1S 77 | I
| 55 KFA, LGB, MHC, — |
: (a) NID (b) NDI (c) OJE :
| (d) NJE (e) None of these YZ(AT GHIS 92T | |
| 53.13,32,51,70,— |
| (a) 88 (b) 89 (c) 90 |
| (d) 91 (e) None of these @3(ITT 9GS 727 | [
| 54.17,44,71,98, - |
I I
I I
I I
I I
I I
I I
I I
I I
I I
I

I

(a) 122 (b) 123 (c) 124 (d) 125
(e) None of these Y3(ART AGIS 723 |

55.1,8,27,64,125, —
(a) 375 (b) 320 (c) 219
(d) 216 (e) None of these W3R AHS 727 |

Direction : In questions 56—60, there are four terms in each question.
The relationship that exists between the first two also exists between
the last two. But one term is missing. The missing term is one of the
five alternatives given below each question. Find out the correct |
alternative. [



|ﬁtW*FIT 5660 2 ZEPTIRS ATOTHE bl wummw«.wW‘zm@mW |
L ITHAECG! (<159 YOI Terce! Al | 5% @B 27 5@ (2 9M0R | 5% #eo! |
o7e o5l Rewsm 7= el sfRa s |
56.19:400::29:7?
(a) 729 (b) 784 (c) 841  (d) 900

(¢) None of these @3(AIRT €HI€ 7T |
57.M:14::N?

(a) 10 (b) 11 (c) 12

(d) 13 (e) None of these Y3(ART GG 7923 |
58.C:100::D:?

(d) 1000 (e) None of these Y3(ART GG 923 |
59.PIG:Rs32:: COW:?

(a) Rs 25 (b) Rs 29 (c) Rs 39

(d) Rs 41 (¢) None of these G3(ART G1S 77 |

60. ABCD : OPQR : : EFGH : ?
(a) UVWX (b) TUVW (c) STUV
(d) VWXY (¢) None of these @3(ART €HI€ 7T |

Direction : In questions 61-65, each has five terms. Four terms are
alike in some way while one term is different from others. Find the
odd one out.

Iﬁwm 61657 2R 2fSCBITS AfbG! 7 SITR | 22 HIfED! 1 TRers G
g, g iR fom At oty | Remich! Aife Bferaat |
| 61. (a) 45 (b) 46 (c) 47
| (d)48 (e) 49
| 62. (a) Itanagar (b) Agartala (c) Simla
(d) Aizawl (e) Imphal
(a) IR (b) SNl (c) fosa
(d) =rZeE (e) T

I
I
I
I
I
I
I
I
I
: (a) 50 (b) 100 (c) 500
I
I
I
I
I
I
I
I
I
I
I

63. (a) Murcury  (b) diesel (c) Patrol
(a) =R (b) feree (c) (=I5

(d) «@fooe (e) I

I
I
I
I
: (d) Acetone (e) Kerosine
I
I
I



| 64. (a) YuriGagarin(b) Rakesh Sharma

65.

66.

67.
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I
I
|
I 68.
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

(c) Neil Armstrong (d) Edmund Hillary (e) Edwin aldrin

(a) FRAMENRS (b)) A (c) T SR

(d) @@ ZAIST (e) 92 GG

5. (a) dCbA (b) NmLk (c) sRgP

(d) iHgF (e) xWvU

In a certain language, ECONOMICS is written as CAMLMKGAQ.
How would you Encode MATHEMATICS in that language ?

@Gl wiate ECONOMICS 3 {12l 237 CAMLMKGAQ f251tet |
MATHEMATICS & (1 ©I31® (S-S fe1e 242

(a) KYRFKCYRGAQ  (b) KYFRCKYRGAQ

(¢) KYRFCKRYGAQ (d) KYRFCKYRGAQ

(e) None of these (AT GBI€ 72T |

In certain language SUREN is written as 13452 and NASIM as 23167.
How will SRIAN be written in that language ?

@y ©rT® SUREN < o721 231 13452 @i<s NASIM 5 {1411 271 23167
f&pIeel | (13051 BT SRIAN & &5 gfe1 il 2

(a) 14362 (b) 14632 (c) 14623 (d) 14236

(¢) None of these G3(ART G1S 77 |

In a certain language 137 means 'tall good boy', 749 means 'very
good girl' and 875 means 'good tasty curry'. Then what is the code I
for 'good' ? |
fRE SIS 137 ST @4 AN | 749 T T4 S (BT S 875 |
N [ RY NG G | (90T Sl HLF© 742 |
(a) 1 (b) 7 () 9 (A5  (e)4 I

Direction : Given below are three positions of the same cube having I

numbers from 2 to 7 Observe them and answer the questions from I
69to 71.

et ¢ woTo 51 I fOfNG! SR T3l it | 29 #_1 7061 7% 2!?151613

oI SREIAIR AT 91 9 69 F 2191 717+ 2@ Tes |

|
|
GG I
|

(1) (i) (iit)



5 231 210 RISt foifs fs et etz 2
(a) 2 ®3 (04 (d) 6 (e) 7
70. What is the number on the bottom of cube no. (iii)?

I
I
(iif) 7% FeT<PS OfoT </l FRICH <5 2 I
(a) 2 ®3  (c)4 (d) 6 |
(d) cannot be determined {7 Ff5= ==IR | |
I
I
I
I

71. Which number is on the face opposite to 4 ?

4 231 31133 ot foifds & o147 <z 2
(a) 2 ®3 ()5 (d) 6
(e) cannot be determined (7 S5 =IF |
Direction : Arindam walks 13m from a starting point towards the east.
Turning to right he walks 9m and again turns to the right direction. |
After walking 13m he again walks 12m turning to right. Now answer |
Q. Nos 72, 73 and 74. |
ORI 3 SR @2 9 21 273 13m (S G | 423 Gt 9= 9m |
ol ST PTRICET I0a S 13m T | 231 ST EHeieet 9 12m 0t 37 |
R | gfeRl 72, 73 e 74 72 25l fobIT T il |

72. How far is Arindam now from his starting point?

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I Bl gee sa S afo feuie e Wiz ?
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

(a) 2m (b) 3m (c) 4m
(d) 5m (e) None of these Y3(ART GG 723 |

73. How much total distance has Arindam covered in his journey?
SR TS JICS FoI 7ag oG S0 ?

(a) 27m (b) 38m (c) 44m

(d)47m (e) None of these U2 GGG T |
74. To which direction has Arindam walked last?

(a) North (b) South (c) East

(d) West (e) None of these

SR GHACHI (T (FII 02 1T 2

(a) T&q (b) W= (c) 71

(d) =If*6w (e) “3ART B8 TT |

75. Which one of the following five words comes first in the dictionary?
ST AIG! %  fOOTT (FIFCH! *1 TSI LU (AR A2
(a) STRIKE (b) STRICTURE (c) STRIFE



(d) STRIDENT (e) STRICKEN |
76. Which one of the following five words comes first in the dictionary? |
CETRAIDG! *1 fooT® (FICG! *I7 SfeUiae A (- A 2 I
(a) PREVIOUS (b) PREVARICATE
(c) PREVENTIVE  (d) PREVALENCE (e) PREVAILING
77. Which one of the following five words comes last in the dictionary?
SETRAAb0! *9 [SeT® (FIFCH! =7 SfSUITS (<7 (ol A= 2
(a) IMPUTABLE (b) IMPURITY
(c) IMPROVEMENT  (d) IMPUTATION (e) IMPRUDENT

Direction : In questions 78-80, numbers are placed in the figure on the |
basis of some rules. One place is vacant and indicated as a question |
(?) mark. Find out the correct alternative to replace the question |
mark. |

0Tt ¢ 78-801 211 AfOTHITS egatin s 9o fofe i fgam o |
oag oice Mol 020 | OItE G5! B AT SR SN OIS @bl 2Tl B |
(2) IR | A1 s 6 3feq ies Tearaiee 7= fga 54 |

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
:466362
MEOEONNO
:235443
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

(a) 26 (b) 20 (©) 30 (d) 42
(¢) None of these U3 GBI 7ZT

(a) 36 (b) 49 (c) 54 (d) 81
(¢) None of these G3(ART G1S 77 |

5 3 3
4 4 3

(a) 12 (b) 16 (c) 19 (d) 24
(e) None of these Y3(ART GG 723 |

I

I

I

I

I

I

I

I

4 6 2 I
I

N/ NN

3100331694 ) 5 :
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r
81. Q is husband of R. Z is P's brother. D is R's daughter. Q is P's son. |

How is Z related to D?

Q,R3I#fS1 Z,PI©iR | D, RIGRSI| Q,PI=@IZ, DIfs =2

(a) Father (b) Uncle (c¢) Grandfather
(d) Nephew (e) None of these
(a) forel (b) ¥ (c) =<1

I
I
I
I
(d) ofewt (e) BT GBI 72 | I

82. Pis son of M. L and M are sisters. N is L's father. How is N related I
to P? :
PM3Is@ILeEMageqt| N,LIfogl N, PIfeaxe I
(a) Father (b) Grandfather (c) Son I

I

I

I

(d) Uncle (e) None of these
(a) forel (b) sl (c) 7@
(d) ¥ (e) U3 GBS T2

Direction : In each of the following questions (83—85) has a group of |
three words which are related to each other in some way. This |
relationship can be represented by one of the following figures (a), |

(b), (¢), (d) or (e). I

oot ¢ ©eiw (83— 85)%W%Wﬂ@ﬁ{ﬂ%ﬁﬁﬁl
ers 51 727 541 T2 F =z | (a), (b), (¢), (d) = (e) Baprzs R |
«BITT G I vl SR AT |

ISRYN

N\
©| | L] UG

Now indicate your answer by darkening the correct alternative on
your answer sheet.

@S (O CeT-7Iq @ [RasCo! e 3. w3l |

| 83. Asia, Europe, India / «fos, TR, O

| 84. Square, Triangle, Circle /34T, fage, g€




| 85. Food, Vegetables, Brinjal / {j, -5 e, @re |

| Direction : In questions 86-90 there are three problem figures fol- |

| lowed by a question mark (?) for the fourth one. There exists some |
relationship between the first two problem figures.A similar rela- |
tionship should exist between the third and the fourth problem fig- I
ures. Find the one from the answer figures that correctly replaces
the question mark.

fRorat ¢ 867 =11 90 7k exiPTIZS foWbitE 1! g =i SoLthre |5l ex@INT
5% (2) Wz | =A% 75! B & «@o= FiF Wz $oI A% Godbre 12
AT 46T T A | T fbaptza «[1 v foacs! fefa i@ #rest |

86. Problem figures: =11 5@

+ |do|.| X | ?

Answer figures: Seqfba

oo | 0D | @ UD

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
@ ©® © @ @ |
87. Problem figures: 5=p11 foa :
|

|

|

|

|

|

|

|

|

|

|

|

|

|

®

A Y LA 9

Answer figures: ¥ foq

v [ [ATAA

(a) (b) (c) (d) (e)
88. Problem figures: =11 foq




Answer figures: Te1 g
o) )
N I - I A O R A

(a) (b) (c) (d) (e)
89. Problem figures: =11 5@

K N 2\ ?

Answer figures: Seqfba

|V | | B |4

(a) (b) (c) (d) (e)
90. Problem figures: 31 fo@
Answer figures: ¥ foq

DV [N -‘@

(a) (b) (c) (d) (e)
Direction : In question 91-95 on the left side four problem figures are |
given and a question mark (?) is put for the fifth. The problem fig- |
ures have some relations in their sequence. Pick the correct an- I
swer figure which can replace the question mark.
fot=at 2 91 7 7/ 95 % 2PTIES HIfRGILE eyl foa il St oI 9i2ewors :
@51 21 % (2) B |37P71 ez SerTe 1 @b 799 =itz | &eq |
oaerzs =141 b1 o o 1 AMCe eIl oz ot = s |
91. Problem figures: swpi foa |
I
I




Answer figures: Seqfba

1

1

L

S5
@ ® @ @ (
92. Problem figures: 31 foa
DE | H NO | TU ?
Answer figures: ¥ foq
YA | ZA MO | T BA
(a) (b) (c) (d) (e)
93. Problem figures: 311 fo@
?

Answer figures: $es foas

1

I

1

1

(a)

(b) (©)

94. Problem figures: 311 fo@

(d)

(e)

A

o

[

Answer figures: Seqfba

O

0

o

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| @)
|

|

(b) (©)

95. Problem figures: 311 fo@

(d)



S ——
Ja Fe | Fe | Ap ?
Answer figures: ¥ foq
Ju | Ma | Au Se | Oc
(a) (b) (c) (d) (e)

|
|

|

|

|

|

|

|

|

|

|

|

|

: oAl |

:96. J A n e L
| 7 © @ ©
o | X X|gp | &7
| D) ) D ©
s, [N | A | N[N
: g ®  © @  ©
:99. @ @ O @ ET)
| O] 9 @ ©
:100 26|11 | 17]20 | 12117 | 2115 | 14]18
| . 19[14 20l13 1318 15119 22|16
: @ ® @ (e
|

|

L e e — 10 OOy — e

Direction : In question 96 to 100 given below there are five figures in |
each question. Four figures are alike in some way while one figure |
is different from others. Find the odd figure out.

fAor=a1 3 96 7 2= 100 2pT7es 2ifSThits #1651 foa il Stz oI bifs! (51 |
Pl g 1 f3ie1 <o BT g 1 wifie | <« wifsie fowct aife e |



GROUP - C
GENERAL KNOWLEDGE & CURRENT AFFAIRS :
AL W SN AN o2
Total Marks : 40 ¥ 794 ¢ 80
Each question carries one mark : TSB! 2T A > 91

101, SERIGR Ao =1 (I OIfRTL e 91 27 2
International Mother Language Day is celebrated on—

a. &> SRS (21 January)
b. 2> (F&RFT (21 February)
c. 33 W6 (21 March)
d. 5 @feis (21 April)
102, SIS (I SPTSIRICA S HlEee ?
Who translated the 'Ramayana’ into Assamese?
a. A% 99Fe! (Ram Saraswati)
b. (X 7Fe! (Hem Saraswati)
c. =& a1l (Madhab Kandali)
d. 3% FWe! (Ananta Kandali)
103. T 510 1 (FE 1 *N1TS S26eT (FICH! 2

Which is the newly formed Union Territory?
a. (oK1 (Goa) b. SMINIS (Andaman)
c. v & (Daman Dew) d. #l@id (Ladakh)
104. ST OrIS e TIS 21261 7191 GTibe e (Zz—
The person associated with liberalisation in India is —
a. T GRS ({98! (Dr Jagamohan Raddy)
b. ©° SRS PR (Dr Monmohan Singh)
¢. ©° [FeT! TS @ (Dr Muruli Monohar Joshi)
d. ©° =i =it (Dr Ananda Sarma)
105. ST oI fRere e Pl (bl 2

The first Assamese scaled Mt. Everest is —
a. 999 o™ (Tl (Raghab Chandra Deka)




b. 9% *[ZF 1! (Tarun Saikia)

c. &= % (Hima Das)

d. estfer =] (Elvis Ali)

BleTR QTR ©oTa (Pl G o{ei> o1 Siafest 2

Which of the following novels was written by Charles Dickens?

a. (Gfown $919FS (David Copperfield)

b. 2l2® ¥ fofgwige (Pride and Prejudice)
c. 99 «@e (75 (War and Peace)

d. cf(G = (Vanity Fair)

GREBGR TN R Ta—

Aristotle was born in —

a. 25! (Italy) b. "2 (Spain)

c. &% (Greece) d. 22057 (England)

A4 ¢. b, ¥, SO (Fl 5T SIS 2 ?

When first A.T.M. was opened in India?

a. >ovro 59 (1980 AD) b. 54v 579 (1978 AD)
C. Yovra b9 (1987 AD) d. S55Y 579 (1996 AD)
HDIR 575} %i#[(51 T'e1—

HDI stands for —

a. Hindustan Day International

b. Human Developmet Institute

¢. Human Development Index

d. Human Determined Interface

2038 HF FANEEL (RS GRS &S F]| A0 AL 7 o—
Medal obtained by India in 2022 Commonwealth Games is —
a. @3Bl (51) b. L3I (61)

c. a3BI(71) d. v >G1(81)

CAIZe A el 21 s Jeroe—

'Sony', the mobile phone manufacturing company is from—

a. feceTe (Finland) b. Sl (Japan)

c. (GNF (Denmark)  d. =™ (France)




112, ACFe (G5 SRS (P (1 2111 T IR0 2
India bought 'Rafale Jet' from which country?
a. el (Canada) b. 3 (France)
c. 2eaize (Israel) d. Sl gealg (USA)

113, SOl < o1 S| Se© YL/ 2o 41 (2fee—
Internal Emergency was proclaimed in India for the first time in
the year-

a. S5 599 (1962 AD) b. S5ue 5@ (1965 AD)
c. 559¢ 599 (1975 AD) d. Ssv0 599 (1980 AD)
114, FHCRIGLN] (22—

I I
I I
I I
I I
I I
I I
I I
I I
I I
| |
I The capital of Canada is — I
: a. (o249l (Tehran) b. SR (Ottawa) :
I c. &%+ (Brussel) d. fSTzl (Vienna) I
| 115. <l gom = o — I
| Odissi is a form of Dance from— |
| a. (I (Kerala) b. ¥6 (Karnataka) [
I c. A9¥e (Jharkhand)  d.8fl (Orissa) :
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I

116, fr ot GG ZaI& i PIFoLae 22s SR 77 (7ie—
The name of the 1st Editor of the English daily "The Assam Tribune'
is —

a. 5T 12 e (Lakshminath Phookan,)

b. &1ta 5&<rs | (Dhiren Chakravorty)

c. &I (i w 3= (Prafulla Govinda Baruah)
d. 9519 (Bl (Kanaksen Deka)

117. =I5 SIERTE 28 3T (@TIF Sus0 b (54 feiea Sufs
i STz wiifes—

Emperor Jahangir granted permission to the East India Company
in 1613 to setup a factory in —

a. JIF0 (Calicut) b, Flermel (Calcutta)
c. 291G (Surat) d. 141915 (Vishakhapattanam)
118. 'The Red River and the Blue HIIIs' 9K &g (515 T 61—



The author o the famous book 'The Red River and the Blue HIlIs' |
1s—

a. (&= SI(@ (Jane Austin) b. (24 I=<1 (Hem Barua)

c. o[ =Iifall (Armind Adiga) d. 9%« 3¢ (Ruskin Bond)

119, (RSRATP 2038 5K AN (P T&r- 205 Sy #/7 o11e Tz ?
Which country has obtained the presidency of 'G-20' countries for

2024 recently?
a. 3%#1¢ (England) b. ifereT (Brazil)
c. 35 (Italy) d. it (Germany)

I

I I
I I
I I
I I
I I
I I
I I
| |
| 120. srorsrs sl Geotest 4! fereiem g'a— |
I The lowest populated district of Assam is — I
: a. (A< (Jorhat) b. {1 2518 (Dima Hasao) :
I c. FI»§ (Kachar) d. Jaie (Nowgaon) I
| 121, (eI it el feer ferg f2piest <ime 2 |
| Who is known as the father of modern sicence? |
| a. {1859 (Newton) b. F9{1fIZ (Copernicus) [
I c. (IR (Galileo)  d. <=5 = (Robert Hook) I
: 122, “ofogeT SRS (<risle] vl FRrgieTer wisffei 2 :
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I I
I

I

I

I

With which one of the schools of Indian Philosophy, the Philosopher
'Patanjali’ is associated?

a. <7 w9 (Nyaya Darsan)
b. AN 79 (Sankhya Darsan)
c. (I8 T (Yoga Darsan)
d. ST (Mimangsha)
123, ISR 9IS LS I i —
The name of the charriot of Ravana in Ramayana is —
a. W= (Maruti) b. F9% (Swagatam)
c. o™ (Puspak) d. SI=a191 (Akashdeep)
124. 'East is East, West is West and never twin shall meet' (It @2 |
! (et ? I
'East is East, West is West and never twin shall meet' who said I
this sentence?



126.

127.

a. 5151 (Churchill) b. eI (Mussollini)

c. FfTAME FoIfeik (Rudyard Kipling)

d. @@eTs 2541 (Adolf Hitler)
Crescograph 715 TECH! 3 FITe IR2E 391 2 2

A Crescograph is used to—

a. MGIF 3w EIIESI] (Cooling the engine of a car)
b. YR 7IREeR ¢S4 I (Record the rain water)
c. Tfns Jfag #If e (el IS (Record the growth of plants)
d. 923 (74 #1799 A (Record the measure of wind)
TR (O] SR N FIE 2 FCF 2

Which institution of India Provides Adhar Card?

a. The Union of Identity Authority of India

b. The Unitek Interlink Authority of India

c. The United Identity Authority of India
d. The Unique Identification Authority of India

TS SPTR J27 O SIS (W 2

Who is the present Chief Information Commissioner of Assam?
a. 79 W (Pawan Borthakur)

b. SISy 72 (Bhaskarjyoti Mahanta)

c. (%9 ¥2F (Keshab Mahanta)

d. 1< 71&7 P (Kumar Sanjoy Krishna)

(2058 TSI ] 24 ST (20—

Tribe Meitei dominated state is—

a. 195« (Tripura) b. (39T (Meghalaya)
c. fé7F (Manipur) d. 1Y (Assam)

ST A %5105 (2rz—

The highest peak of Assam is—

a. RIS (Mahadev) b. #1122 (Laike Peak)
c. 4891 (Thungal) d. 1217l (Kauhaha)
o9 eI 24 FRTH! Sie—

The head office of Meteorology Department is in—
a. 363 (Cuttack) b. 9t (Pune)



c. «T1917{§ (Nagpur) d. SISy (Rameswaram)
131, (AR 3 3fOR FE 911 (FINCG! 6! o1 Fiafee 2
Which award was won by Ravish Kumar in last year?
a. 3311 I61 (The Booker prize)
b. T (9NT=CR 961 (Raman Magasaysay award)
c. '(3e1 361 (Nobel prize)
d. «73’5 61 (Abel prize)
132. ©IFeF 2 SR (SRS ST W]l@ﬂ—
The first Governor General of India was—
a. %76 (GeRGh! (Lord Delhousie)
b. 7C Fieie (Lord Curzon)
c. 316 TN @f6<F (Lord Willium Bentinck)
d. &% &% (Lord Rippon)
133. ‘(633 IR IR NgZRIF| 2 A—
The founder of 'Facebook' is—
a. e (9i5% (Bill Gates)
b. I gFEANf (Mark Zuckerberg)
c. JoI9 9F<T (Susan Boyle)
d. &= R (Elon Musk)
134, “(=eofet < e a1 (2ie—
'Sengol' is installed in—
a. olera2eT9 (Taj Mahal)
b. T« M w9 (New Parliament House)
c. SPT RYiTere (Assam Assembly)
d. S AT (Supreme Court)
135. 2% TF (1S Gewe R 99 bIS Al #{for 29 e —
The normal range of blood pressure of an adult should be
a. 10-50 (70-90) b. ro->9o (80-130)
c. Yo-y00 (60-100) d. o-330(80-120)




136.  (2ICSTRIZRS #I<1 77Ca1 61 (o1l (oTive (2ie—
Nobel prize winner from Palestine is—

a. BRI SEIFG (Yasser Arafat)
b. 285 SIS (Usuf Arafat)
c. WVIgal 9 (Amanulla Khan)
d. 2fsm $9ig (Hamid Karzai)
137, 2039 7C GG (¥ STl 51T (27—
The best actor of 2023 of India is—
a. ey (v<9l (Ajoy Devagan)

b. SRR 4911 (Ayusman Khurana)
c. ST =15 (Allu Arjun)
d. 19T 2519 (Kamal Hasan)
138. 2ORY wHbaLas oI5 (2re—
Director of documentary 'Hatibandhu' is—
a. I wPT (Rima Das) b, 2 Fferel (Kripal Kalita)
c. T 7&! (Jatin Bora) d. S 712l (Arun Nath)

139. Ol (G OB T oT—

Unit of measurement for heat is—

a.31% (Couloumb) b. (&=& (Decibel)

c. gl (Joule) d. %5 (Dioptre)
140 STiofe colg onifrapis piifest—

Argon Gas was discovered by—

a. MM (Marconi)

b. TfHE IR WA TG (el

(W. Ramsay and Lord Rayleigh)

c. N0 I (RIZTZC

(Russell and Whitehead)

d. feens S W83 Slerbab

(Chesear and Michael Collins)




GROUP D
ENGLISH GRAMMAR : 353Gt qjiael
Total Marks : 10 S{IBW i)
Each question carries One Mark : 2fSto! 241 373 > 799

Fill in the blanks by choosing the correct determiner from the
options given. Put a cross when no determiner is needed (x).

141. rich are not always happy.
a. The b. X c. Any d. Some
142. books are missing from the library.

a. Any b. The c. Some d. Much

Fill in the blanks with sppropriate prepositions from the
choices given.

143. Tam tired of writing letters her.
a. for b. to c. by d. of
144. The students are sitting their desks.
a.on b.in c. at d. by

from the choices given.

145. When we reached the station, the train
a.leaving b. left c. has left d. had left
146. We went for a walk after the rain .
a. stopped b. has stopped c. have stopped d. had stopped

Choose the correct sentence from the options given in each
question.
147. a. He said to me, “Where you are going?”
b. He said to me, “Where are you going?”’
c. He told me where are you going?
d. He told me where you are going?

148. a. He said to me to don’t do it.b. He asked me not to do it.
c. He asked me to not doit.  d. He asked me to not to do it.
Choose from the options the correct change of narration
(from direct to indirect/indirect to direct) of the following

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I Fill in the blanks with the appropriate forms of the verbs
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
: sentences.



149. He said to his friend, “What can I do for you?”
a. He asked his friend what can he do for you.
b. He asked his friend what can he do for him.
c. He asked his friend what he can do for him.
d. He asked his friend what he could do for him.

150. He requested me to take his book.
a. He said to me, “Take my book”.
b. He said to me, “Please take my book”.
c. He said to me, “Please take your book”.
d. He said to me, “Take the book™.
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